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L Grey line: exponential fit Peak flux: 10.815+/- 1.328 c/s/cm? ]
r Black line: power law + gauss fit Fluence : 99.19+/- 8.76 c/cm? B
L Dashed line: power law i ]
- Duration : 23.07+/- 2.36s .
- Best fit model: 1. ]
L Best fluence model: 1. ]
L Best duration model: 1. 4
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; Exponential fit é
= Expon.time: 6.85+/- 0.60 s (chi*red= 1.02) =
- b T
- }
= f 3
; Power law fit é
= Power law index: -1.776+/- 0.117 (chi’-red= 1.01) 3
- Lol W
= +ﬂ%ﬁﬁﬁw&ﬁ mﬂﬁ%ﬁﬁﬂm wﬂ %w*Hjfﬁ*Hﬂ**WH*ﬂ+ﬁﬂ**ﬁ“ﬂﬂﬂ%ﬂwW*ﬁ ) +H*ﬂ*ﬁ*#*mN+ﬂ+*HﬁWﬁmﬁmﬁ #m+ﬁ+u+ﬁﬁ+#*H+H+u++ﬁ+W+H++*++ﬁ+ﬁ+ﬁ++%+*ﬁ%H+ﬁ+H+*H%MWHHM* NM%
= } (=
— + ]
i T T T T T T T T T T T T T T T T T T T T T T i
— Power law fit plus Gaussian (st.dev.= 10.52+/- 2.81 s, fracgs= 0.16+/- 0.08) =
= Power law index: -1.811+/- 0.268 (chi’-red= 1.00) 3
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